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Proposition. 1t n € N, then

1:24+2-3+3-4+4:5+.+nmn+ 1) =000

Proposition. /12 is irrational.
Proposition. Let a, b € Z,n € N. Ifa = b(mod n) then a = b3(mod n).

Proposition. For any integer n = 0, it follows that 9|(4—3n + 8).
Proposition. If 4 and B are sets, then P(A — B) € P(4A) — P(B).

Proposition. If m, n are integers, then gcd(m, n) < gcd(m3, n3) .

. a. List the elements of the set: {xz:x € Z|2x + 1] < 11}

b. Find the cardinality of the set: [{@, 5, m, {0}, {{@}}, {@, 1, {0}} }|
c. Giventhe set D = {0, 1, 2, @}, answer True or False (and explain):
i.{0} €D ii. {@,2} € D ii. {(2,0), (0,0)} € D x D
d. Draw a Venn diagram for (A N B) U (A n ()
Givensets A = {a,b,c}, B = {b,c,d} and C = {a, b, e}, and universal set
U = {a b,cde,f} find each of the following sets and state the cardinality:
a.(AUB)— (Bn O b.P(B — C) ¢.BxC dANnC
a. LetA1 ={- 12}, A2 = {— 3,4}, A3 = {— 5, 6} and in general for eachn € N,

A = {—= 2n + 1,2n}. Find U A and n A
i=1 i=1

b.Let R" be the set of positive real numbers. For each o € IR+, let A be the closed
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10. a. List the elements of the set: {xZ:x € Z |2x + 1] < 11}
b. Find the cardinality of the set: |{®, 5, m, {@}, {{?}}, {@, 1,{D}} }|
c. Giventheset D = {0, 1, 2, @}, answer True or False (and explain):
1. {0} €D 1.{0,2} € D u. {(2,0), (0,0)} €D XD
d. Draw a Venn diagram for (A N B) U (A n ()

a\ x= % 8,3 0,125 /?{ ’ ’3('9)"}
{1‘3/ ,(’)T, L’/ | D,Ll.ltiﬁ/_[,é ’ /i’é :;/
o | ; 9 L//-"

’)[.65#0

‘ (I J(c

R




